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01. 14
02. f'(x)=2—2z

03. 98

04. (a) Bl 7Hs 3] FiL, Aol ohiet. (b) BlE7Hs3HA

05. a=1, b=15

06. A2
4 1 3
07. (a) 3 (b) 5 (c) 5

08. a=1

09. A¥=f

Yy — (— 3562) o 32°

(b) L= -
b o) (-2
dy 1 d _ sec’w 1
() dr  tanz dx (tanz) tanx sinz cosx

Wt L (Vr)= £

(d) dz dx 2V

import sympy as sp

X = sp.Symbol('x’)

# (a)

fx = 2*-1)**4

print("The answer for (a) is ", sp.diff(fx,x))
# (b)

fx = 1/(3-x**3)

print("The answer for (b) is ", sp.diff(fx,x))
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# (o)

fx = sp.log(sp.tan(x))

print("The answer for (c) is ", sp.diff(fx,x))
# (d)

fx = sp.exp(sp.sqrt(x))

print("The answer for (d) is ", sp.diff(fx,x))

1. k=—14

import sympy as sp

X = sp.Symbol('x’)

fx = sp.exp(2*x)*sp.sin(3*x)

dfx = sp.diff(fx,x)

ddfx = sp.diff(sp.diff(fx,x),x)

k = sp.Symbol('k')

print(sp.factor(ddfx+k*dfx+13*fx)) # sp.factor = Q2!

12. (a) y=3ex—4e (b) y,_H%
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13. (a) y= o+l (b) y=—z+1
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17.

import numpy as np
import matplotlib.pyplot as plt
# (a) f(x)=er{-x"2}

x = np.linspace(-2,2,401)
fx = np.exp(-x*x)
plt.plot(x,fx)

plt.show()

# (b) g(x)=x"{2/3}

x = np.linspace(-4,4,801)
gx = (x**2)**(1/3)
plt.plot(x,gx)

plt.show()
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